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I. SKILLS AND TESTS

Chapter One - Listening Skills

Part A Short Conversations
A Model of A Short Conversation

The listening comprehension of CET-6 includes two

sections; Section A and Sections B. In Section A, there are
ten short conversations between a man and a woman. After
each conversation, you hear a quesﬁon about what was said.
You have 13 seconds to choose the best answer to the question.
You will hear;

W: While the children are at the movies, I think I'll drop
into Drake’s Department store and do a little
shopping. .

M: Good idea. While you're there, will you pick up a
couple of white shirts for me? And I need some
cigarettes, too.

Q: What is the woman going to buy for herself?

You will read: (A) She doesn*t say.

(B) Some cigarettes.



(C) Some colorful dresses.
(D) White shorts and cigarettes,
Answer choices:
Choice A is correct.
The woman would buy something in a department store,
but she didn’t mention anything for herself.
Choice B is incorrect.
The man asked the woman to buy some cigarettes for
himself.
Choice C is incorrect.
Neither the woman nor the man mentioned some colorful
dresses.
Choice D is incorrect.
The man asked the woman to buy white shirts and
cigarettes for himself. '

Previewing the Four Choices

One of the important steps to answer the questions of
short conversations is that before you hear a short
conversation, you should preview the four answer choices and
predict what the question will be and the topic of the short
conversation.

Example 1
Preview; (A) He feels sorry for those students.
(B) He considers the punishment excessive.
(C) He expresses no opinion about the action.
— 2 —_—



(D) He approves of the action.

In the four choices, “He” indicates that the question may
concern the man, and you should pay attention to what the
man says.

From the words, “those students, punishment, action,
feels sorry for, considers, expresses no opinion, approves of”,
you expect that some students may do something wrong and
receive a punishment, The man’s idea about the action is very
important,

Possible questions; »

What does the man mean?

What is the attitude towards the punishment /action?

How does the man feel about the punishment/action?
You will hear; - B

- W Professor Dalton caught some students cheating on
the final exam and failed them right then and there.

M: Serves them right. I don’ sympathize with anyone

trying to pass that way.

Q: What is the man’s attitude toward the Professor’s

action?

Correct answer; (D)

Example 2, .
Preview; (A) 61 30. (B) 6 00.
(€C) 6:45. (D) 7 00.

The four choices indicate that the conversation is about

time. You should take down the numbers you hear in the
J— 3 —_—



conversation.
Possible questions:
What time/When +++?
You will hear:
W: What time does your bus leave for the office in the
morning? _
M: It leaves at 6 * 30, except on Fridays when it leaves
thirty minutes later.
Q: What time does the bus leave on Fridays?
Correct answer: (D) .

Types of Correct Answer Choices

For each short conversation, there is only one correct
answer among the four possible answer choices. You can find
the correct answer in different methods according to the
meaning of conversation you hear. Below are types of correct

answer choices;

Exercise 1 Details
Strategies for answering the questions about DETAILS

Some questions ask about details that are directly
motioned in the conversation. The correct answer to this kind
of question is the RESTATEMENT the facts you hear in the
conversation and you can find it in the four possible answer
choices. '

Example;
— 4 —-—



You will hear;
M: Since you have visited so many countries. You must
be able to speak several different languages.
W I wish I could, But French and German are the only
foreign language I have ever learned to speak.
Q: What did the woman say of her knowledge of foreign
languages?
You will read: (A) She hasn’ leaned French.
(B) She can speak several foreign languages
including French.
(C) She can speak either German or French,
(D) She speaks neither French nor German.
In the short conversation, the woman says, “French and
German are the only foreign language I have ever learned to
speak. ” It shows that the woman can speak two foreign
languages: French and German. Ti\erefore, the choice (C) is
the correct answer.

Following are the questions about details

What is the man/woman doing?
What is the man/woman trying to do?
What is the man/woman asking?

What does the man/woman want to know?

Listening exercise

Drrections: In this exercise you will hear 15 short
— 5 [



conversations. At the end of each conversation, a question will
be asked about DETAILS. Each conversation and question will
be spoken only once. After each question there will be a pause.
During the pause, you must read the four suggested answers
marked (A), (B), (C) and (D), and decide which is the best
answer. Then mark the corresponding letter on the Answer
Sheet with a single line through the center.
Example
You will hear;
You will read; (A) That she does not like plays.

(B) That she went to see the play with the

man and woman.
(C) That she had not planned to attend the
play.

(D) That she was not at the play.
From the conversation we know that the two are talking about
Betty Thompson’s absence and they don* know where she is.
Therefore, (D) “that she was not at the play” is the correct
answer. You should choose answer [D] on the Answer Sheet
and mark it with a single line through the centre.

Sample Answer [A[B][C][BH]

1. (A) Drive straight through the night without stopping.
(B) Take a break before continuing on.
(C) Stay at the motel for the night.
(D) Get some sleep before continuing on.

—_— 6 _



. (A) He prefers his old set of clubs.
(B) He has little chance to play golf.
(C) He’ playing better golf recently.
(D) He’s too old to play much golf.

. (A) He will borrow some typing paper from the woman.
(B) He will lend the woman some typing paper.

(C) He will type the woman’s paper.

(D) He will buy some typing paper for the woman.

. (A) He met the wrong man.

(B) He didn’t see the sign.

(C) He forgot to knock on the door.
(D) He forgot to bring his briefcase.

. (A) There’s another cat that looks like him.
(B) He never loosens the dog.

(C) She has mistaken it for his dog.

(D) The dog likes to walk on the leash.

. (A) She thinks that he should call to check his score.
(B) She thinks that he should wait, ‘

(C) She thinks that he should take the test again.

(D) She thinks that he should be more worried than he is.

__7__



10.

11.

(A) Wednesday morning is available.
(B) Friday morning is available.

(C) Thursday morning is available.
(D) Tuesday morning is available,

(A) Children have already left for their grandmother’s
home.

(B) Children will leave for their grandmother’s home.

(C) Children will leave for their grandmother’s after
school.

(D) Children will play with their grandmother in the

school.

(A) He may be going to the meeting.
(B) He may take her to a movie.

(C) Seeing his girl friend.

(D) He may be driving at 3 : 00.

(A) Weights and measurements.
(B) Political systems,

(C) Employment.

(D) Money.

(A) Failing in school.
(B) Failing to make the team.

(C) Failing several courses.

— 8 —



12.

13.

14.

15.

(D) Being a dropout.

(A) He publishes books.
(B) He is an author.

(C) He collects automobiles.
(D) He works in industry.

(A) To marry Joe because she cares most for him.
(B) Not to marry anyone right now.
(C) To marry Tom because he is successful.

(D) To marry Tom because of his excellent prospects.

(A) He bumped into a telephone.
(B) He met a friend he did not call.
(C) He met a friend on 5th Avenue.
(D) He was very busy.

(A) He made money at first.

(B) He can’t sell books.

(C) He and his boss get along well.
(D) He prefers to be a fireman.

Exercise 2 Inferences

Strategies for answering the questions about INFERENCES

Some questions ask about the information you hear in the

conversation, you are required to make an inference from this

— 9 —



information, The correct answer is SUGGESTED in what the
speakers said.
Example:
You will hear;
M. I am worried about sending my son to college. Most
college students are so wild nowadayé.
W Only a few are. Most students are too busy studying
to get into trouble,
Q: How does the woman react to the man’ remarks?
You will read;
(A) She agrees with him partially.
(B) She doesn’t agree with him.
(C) She advises him to be more careful,
(D) She suggests that he be strict with his son.
What the woman said in the conversation suggests that
she doesn’t agree with the man. Therefore, (B) is the correct
answer, ’

Following are the questions about inferences

How does the man/woman feel about *»+?

Why did the man/woman say +-?

Where did the conversation most probably take place?
Who is the man/woman? '

Listening exercises

Directions; In this exercise you will hear 15 short



conversations. At the end of each conversation, a question will
be asked about what was said. Each conversation and question
will be spoken only once. After each question. there will be a
pause, During the pause, you muét read the four suggested
answers marked (A), (B), (C) and (D), and decide which is
the best answer by inference. Then mark the corresponding
letter on the Answer Sheet with a single line through the
center.,
Example;
You will hear;
You will read ;

(A) The man has a client he must see.

(B) Mr. Stevens is rushed for time.

(C) Mr. Stevens is talking with someone at the moment.

(D) Mr. Stevens won’t be back until 2 : 30 tomorrow.
From the conversation we know that the two are talking about
Mr. stevens who is talking with his client and can’ see the
man. Therefore, (C) “Mr. stevens is talking with someone at
the moment” is the correct answer. You should choose answer
[C] on the Answer Sheet and mark it with a single line
through the centre. '

Sample Answer [A][BI€][D]

1. (A) He really doesn’t know.
(B) He thinks the weather will not make any difference,
(C) He thinks they will lose if the weather is bad.



